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For each question from 1 1o 24, four options are given. One of them is the comrect answer.
Make your choice (1, 2, 3 or 4). Shade the correct oval on the Opﬁeamnswerstnﬁeat(mfs)].
marks]

2

1.

2

Which one of the animals shown balow is NOT an insect?

{1

@

“

Karen kept 2 adult hamsters as pets in a cape. A month later, she noticed that.
there were 4 more baby hamsiers.

This shows that the hamster Is a living thing because it can __

{N
2)
{3)
{4)

@&

grow
breathe
respond
reproduce
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The diagran below shows & young plant.

The leaf halps the plant to

(3} make food
(2)  grow upright
(3)  absorb water
(4)  absorb minerals

David maxie the following observations on the ife cycle of an animal.

s  There are four stages in the fife cycle.
+»  The young does not look like the aduit,

Which animal did David observe?

{1)  chicken

@)  buttefty
(3} cockroach
(4}  grasshopper

Which one of the following properties is true for both alr and en ice cube?

(1)  They can be ssen.

(2} They take up space.

(3) They have fixed shapes.
{4} They have fixed volumes.
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Mel placed four eimilar oranges in setups.A, B, C and D at rooin temperature as
shown below.

in which set-up, A, B, C or D would mould first appear on the orange?

{1) Set-up A
2) SetupB
(3) SetupC
4) SelapD

magnet plastic ﬁ

What will happen to the plastic block?

{1)  Hwill move up.

{2) vl notmove.

{3}  Hwill move to the left.
4y itwill move to the right.
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Diane Is able to see the mug when the lamp Is switched on.

—— lamip

g

5

Which one of the following diagrams correctly shows how light travels for Diane to

soe the mug?

e dfitection of fight

(1)

3}
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Nancy used an eeciric iron 1o iron her clothes as shown below.

She s able o hold the slectric iron using the plastic handle because plastic is a

(2) fexble material
(3) poorconductor of heat
(4)  good conductor of heat

Study the dlagram below.

Both ohjecis have the same for the weighing scale 1o be balanced.
(1) sie

{2) mess

{3) shape

{4) volume
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5
11 Study the classification chart below.
Animels |
] I , !
[ anecyde 1 | { MBWEWE ]
— _

i

Lay eggs In ][ Lay eggs on ] [Lavm!n] [Layeggson }
water land water land

| SRS ' ¥ |

A- ‘B C D

The diageant belaw shows animals Rand 8.

Animal R

adult

Which group, A, B, G or D, do enimals R and S belong to?

AnimaiR Animal §
(1) A ¢
2) B A
@) C_ b
@ [ 3 A
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8

The set-up below shows light from a torch shining on a wooden bail,

®
- O
torch wooden pall soreen
Which shadow below is likely to be seen on the screen?
{1} (2)
) W

Alice filed up the conlginer below with 80 cm? of ol and 40 cm? of alr. She then
removed 10 cm? of oll through Tap A and pumped in another 20 cm? of air through
Tap B,

TapB

a6 o o i =l

80 cm? of
il

= swesase]p 10 am? of oil out
ST X T A

What is the volume of air in the container now?

(1) 30ocm®

{2) 50em®

(3) 60om®
(8 70om®
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g

In the experimant balow, a drop of red ink is ptaced in the glass tube connecting
two flasks, A end B. Each flask is placed in a basin of water.

Which arrangement will make the drop of red ink move towsards B the fastest?

(1)
(2)
(3)
)

Als placed.in a basin of | B is placed in.a basin of
ico water  water at 90°C
weder at 80°C water at room tempersture
‘water af room {emperature fce waler

Tania dropped some ice cubes into a glass of hot chocolate and obeerved that the ice
cubes siarted to melt.

ice cubasg

Tanla's oBsewaMn showed that the

(1) ice cubes had lost heet to the surroundings
{2) hot chooolate had lost heat to the ice cubes
(3) ice oubes had lost its coldness to the hot chocolate
{4) hot chocolate had gained hest from the surroundings
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16 A cup is placed in the middie of a dark room. A torch is shong from position X first,
Next, the torch is shone st position Y. The handie of the cup is facing the torch at
position X, The shadows are cast onlo the walls, § and T, one at a time.

/‘B 2nd position Y
torch

Wall 8

Wal T
Which diagram below correotty shows the shadows cast onto each wall?

Wall 8 Wall T

)

@

L

(3)

(4)

®
l
®
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17  Four thumbtacke were fixed at positions A, B, C and D on a metal ring using the
same amount of wax.

_ The metat ﬁngwashemdatmoiﬁbodﬂuns,w,x.YorZandﬂmtimetaken
for each thumbtack to drop was recorded in the table balow.

Position of thumbtack Time m;x;mw to
A 1
B8 2
C 4
o 3 _

At which position was the metal WW?
(1)} W
2y X
3 Y
4 2
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Shatinah poured some water into two pots, X and Y. The pots were of the same
size but made of different materials. Pot X contained 600 ml of water and pot Y
contained 300 ml of water, Both pots were heated over a flame until the water
boiled.

Shatigah obsérved that the water in both pols took the same emount of me fo
reach 100°C. Which of the stalements below could be possﬂie explapations for
her ohsetvation?

A The fiame used for pot Y was stronger.

B Pot X Is mads of a material thal conducts heet faster.

o] The temperature of the water in pot X was higher at the start of the
axperiment.

(1) Aand B only

{(3) B and C only
(4) A, Band C

www.testpapersfree.com

BP-874

SR RARAC Al T T T e e



19

13

Alex wanted to find out if the type of nells used would affect the strength of an
elactromagnet. He prepared two set-ups as shown below but made some
migtakes.

§ om iron nall 8 cm iron nail
[ I - o [ T
wire”] o | e
wire
bafiery battarles
Setup A Sstup B

Which of the following actions would help Alex correct the mistakes made In his
sot-ups?

P Use a 5 cm steel nal In set-up B,

G Add one more battery to each set-up.

R Incraase the number of colls of wire in both set-tips.

L Use the same number of betteries for both set-up A and set-up B.

(1) Ponly

(2) Pand&only

(3) QandRonly
(4) P, Q. Rand8

Devl conducted severat tests on four materials, A, B, C and D. Her results are
shown in the table below, :

. Maturisl
| Property A B | 6 | D
Bends easily Yoes | Yes No No
Absorbs weter No .| Yes No No
Breaks when dropped No No Ye No
Allows most light to pass through | No No No No

Beased on Devi's results, which of the following comectly identify materals A, B, C
and D? |

A B ¢ D
(1) Wood Ceramic Rubber | Plasfic
(2} Paper “Plastic Steel Ceramic
(3) Rubber Paper Ceramic Steel
(4) Caramic Wood Stasl Rubber
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Study the flow charl below,
‘Malterial

Queostion A Yas

Which of the following is correst?

Question A ' “Quesfion B Material X

(1) Ooesltbanésasﬂy? Mﬂﬂwmbpﬁ}sﬁﬂ": i? : _me

{2) {_Does i float in water? _ m_&MHMﬁm_
{3} [ Does ithend easiy? Does it atiract a magnet? hose

(4) [_Doas It float in water? Does it attractea magnet? | Ceramic cup

Rahim filled a 500 cm® container with some water, The amount of water and air in
the contalner was both at 250 oy, Ha then pumpead 100 ¢no® more alr into the
cordainer as shown inﬂmediagmmhalow

250 om? of water

A 500 om? container

wmwmmwmdmmmmmammmaaw -

and water in the container?
__Volume of water o Volums of air
{1 Decreases ' Increases
{2) ___Decroases ' Remains the same
{3) Remains the same | ~ Increases
{4 |  Remeinsthesame | Remains the same-
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23  Sonya carried out an experiment In a dark room. Sheets A, B, C and D are arranged
in & straight line, Shast B has a shape cut out from is center.

‘When the torch was switched on, & bright moon-shaped patch of light could be seen
on sheet C. Which of the following correcily describes the properties of the materials

15

~

shoet C

IR

g

sheet D

used 1o make shests A, B, G and D?
does not allow light | ellows light to pass niot possible
to pass through throngh totell
Tl e ] Aemp B
@ AandD ¢ B
(3) Band C A D
(4) c | Aand B D
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24 Study the flow chart below.
Start |

Which of the following animals can be represented by A, B and G?
A B C

1) [ Eodteoah | chloken f

) [Todronah | gickan__|_isad

() [ormsshopper | rabbt frog

(9) [_moosquilo | cookroach | rablit
End of Bookdet A
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For questions 25 to 38, write your answers in the spaces provided. The number of marks
avaliable is shown in brackeis [ ] at the end of each question or part question.

{32 marks)

25  Look at the waich as shown below.
(a) Part Als made of glass because it allows | o
pass through 26 that the user can read the ime. i
{b) The matorinl used o make part B has 1o be _ 80
that the user can wear the walch around his wrist, 4]

26 %gmmm-mmnmdmmmmmmw.xv
an

identify the part where

(a) ]

(b) Ml
(Go on to the next page)
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Ben placed two ring magnets, X and Y, through a holder as shown: below.

(@)  The holder was made of plastic and did not attract the magnets.

Plastic is & matetial, i1l

(b} Wiy was magnet X floating above magnet Y?

Magnet Y was mag_r;et X i

Choose the correct words from the box to answer the question below.

€gg soed younyg plant adult plant

Name stages A and C in the iife cycle of the plant.

A 1
e 1
4

{Go on fo the next page)
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28  The diagram below shows the iife eycle of a mosquito and a ladybird beetle.

(a) State one difference betwesn the life cycles of a incaguito and a ladybird
beetlé. 4

{b) Why does the ladybird beetie lay #ts eggs on the leaves? {11

z

{Go on to the naxt page)
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Nancy poured equal amounts of hot water info two glass cups, G and H. They were
left at room tempetéture of 30°C.

50 mi of water ai 90°C

50 mi of water at 90°C

(air in between [ayers
of glass) ‘

Nancy recorded the temperature of the water in both glase cups at the start of the
experiment and after 15 minutes in the table below.

. Temporature of water (°C)
G
lass cups Althe start | ARer 16 minutes
G 00 45
H 50 34

{a) Why did the temperature of the hot water decrease in both glass cups G
and H after 15 minutes? [1}

{(b) Nancy observed that the temperafures of water in both glass cups G and W
_were different afier 15 minutes. Explain her observation. 7

(c)  If Nancy used metal cups instead of the glass cups for the experiment,
would the decrease in temperature be faster, slower, or the same? Explain
your answer. (1}

4
(Go on to the next page)
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‘Rajan used a pair of tongs to hold a rod made of two different types of materiais
over a bunsen burner. Two identical nails, A and B, were attached to the ends of
the rod with the same amount of wax as shown below.

R&nhamﬂamﬁwiﬁ!aMbmbum Hemcmdedﬂtaﬁmetakenforeaﬁh
nall to drop off from the rod. .

Nail | Time taken for each nail to drop (minuies) |
, A 8 '
T B 2
{a) Explain why the ime taken for nall A to drop is longer than nall B. 2l

{b)  Based on the resulls from the tabls, is plastic or metal a better choice for
making the base of a frying pan? Explain your answer, , 4]

(Go onto the next page)
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32  The diagram bélow shows the layout for a shadow performance.

light source

AN
O O
Position 1 Posiion 2

O O
Position 3  Position 4

-

audience

Suyash had two toys of the same height. He created the following shadows with his
toys as shown below. ‘

A A A

toyA tyB shatdows on screen

(@)  Write the number to'show the position of esch toy:. . {11

()  Position of toy A:

(i) Position of toy B:

(b}  Explain your answer inv a)i). {1]

5

(Go on to the next page)
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33  Sulynn used object P in the set-up below to conduct an experiment. She used a
light sensor to measure the amount of light on a fixed screen.

light sensor

ilecreen
UL

SR,
- : \ shadow

She changed the position of the torch i the set-up and recorded her resulls at
each posfiion as shown in the table below.

- Light sansor reading {units) . | - Length of shadow (cm) |
70 | 4
130 8
200 18
270 | 109
(8) Based on the table above, what did Sulynn do o achieve the above resuﬂa‘?]’

{b) Explain how the change Sulynn had made ih {(a) would cause the linht
sensor reading to increase. ‘ C

2 |

{Go on to the next pagse)
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James et up an experiment as shown below. He placed ink drops in the same
position in two identical glass tubes, and inserted them into identical flasks, P and
Q, containing only alr. He then placed flask P into a container of hot water, and
flask G into a container of ice cubes.

glass tubes

flask P
. flask G

{(a) What wiouid he obeerve about the ink drops in both flasks? {1}
Flask P:
Flask Q:

(b)  Explain his observation of the ink drop in flask Q. 1

{Go on to the next page)
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After three hours, James used an instrument to measure the temperature of water
in the container with flask P.

(d)

instrument

o weww el RSN WSRO W o

e ;s{heM caﬁad? e e e i . {11

What is the temperature of the water in the glass? ' 1)
‘C

{Go on to the next page)

www.testpapersfree.com

BP-~888



BP-~889
"
Shayna had an emply glass jar with & motal fid that was tightly fited onto it. She
placed the fid in boiling water for one minute.

glass jar — [

(a)  After a whils! she found it easler to remove tha lid. Explain why. 21

A metal bridge hag gaps at both ends as shown balow.

(6} Explain why there are gaps on the biidge. [}

{Go on fo the next pagse)
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Jimmy put a oy soldier into a submarine made of clear plastic. There were two
holes, A and B, an the submsrine. When he pushed the submarine into a tank of
:ﬂter.ﬂ:ewymm upwands and bubbles were seen coming out from hole

() BExplain why bubbles could be seen coming out from hole A when the
submaring was pushed into the water. 1

When the submarine wae pushed deeper into the water, the 1oy soldier rose
and blocked hole A completely, Jimmy observed that the water leval In the

i e R, T AR s ERRv . Y T RN

)

End of Bookist B

www.testpapersfree.com

BP-~890



SCHOOL : METHODIST GIRLS* SCHOOL
LEVEL : PRIMARY 4
SUBJECT : SCIENCE
TERM : 2020 SA2
SECTION A
Q1 Q2 Q3 Q4 Qs Q6 Q7 Q8 Qe Q10
3 4 1 2 2 3 2 4 3 2
a1l |l Q2 |13 [ a4 | Q15 | Q16 [ Q17 | Q18 | Q18 | Q20
2 1 2 2 2 1 4 3 2 3
Q21 | Q22 | Q23 | Q24
3 4 3 1
SECTIONB
Q25) (a) Light
(b) Flexible
Q26}) (a} W
(b)Z
Q27) (a) Non — magnetic
(b) Repelling
Q28) |A: Seed
C: aduit plant
Q29) (a) The adult mosquito lay its eggs in water, while the adult
ladybird beetle lay its eggs on land.
(b) When the eggs on the leaves hatch, they can already eat the

Pgl

www.testpapersfree.com

BP-~891




leaves and grow faster.

Q30)

(a) The hot water lost heat to the surrounding air and the
temperature dropped till it was. room temperature.

(b) Air was in between cup H. Air is a poor conductor of heat. Heat
loss to the surroundings will be slower in cup H.

{c) Cup G decrease in témperature faster, as metal is a good
conductor of heat and will lose heat to the surrounding air
faster.

Q31)

(a) Plastic is a poorer conductor of heat which slows down he.atr
gained by the wax more than metal.

(b) Metal, metal is a better conductor of heat, so food will be able to
be cooked quicker. Thus, metal is a better choice for making the

- “baseotafrRgpan, T

Q32)

(a) (i) Position 1
(ii) Position 4 ,
{b) The two toys are the same height. On the screen, toy A shadow :
is Jarger and bigger. Since the nearer an object is to the light
source the bigger the shadow. Thus, toy A is at position 1 while
toy B is at position 4. |

Q33)

(a) Sulynn move ed the torch nearer to object P and the light

length of the shadow, Since the nearer the light source the
bigger the shadow the length of the shadow and light detected
increased.

(b) By moving the position of the torch forward and nearer to the
object the Sc_reen, _Iig_ht from the torch will be able to shine more
light, allowing the light sensor to detect more light.

oy

~-—-~-gensormeasured the-light detected and Sulynn-measured-the -~

Q34)

(a) Flask P: rise
Flask Q: drop

{b) The air in flask Q lost heat from the ice cubes and contracted,
making the ink drop to drop.

{c) Thermometer

(d)24

Pg2
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Q385)

(a) Metal is a better conductor of heat than glass. Metal gains heat
faster. The lid expanded faster.

(b) When it is a sunny and hot day, the metal bridge will gain heat
and expand into the gaps, preventing the metal bridge to buckle

or crack.

Q36)

(a) As water enters the submarine from hole B, the water occupies
the space previously occupied by the air and displaced the air,
making air bubbles to escape and submarine from hot A, as
water pushes the air out.

(b) The water could not enter as some air was still occupying some
space In the submarine. The toy soldier blocked hole A
completely, preventing air from escaping, not allowing water
displace the air. Thus, the water level in the submarine stopped
rising.

Pg3
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